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QUESTION 1

With a Cisco IE 2000 switch, what does a port status LED indicate when it is solid green? 

A. The port is sending or receiving data. 

B. A link is present. 

C. No link is present. 

D. There is a link fault. 

E. The port is not forwarding. 

Correct Answer: B 

 

QUESTION 2

With a Cisco IE 2000 switch, what does a port status LED indicate when it is solid amber? 

A. The port is sending or receiving data. 

B. A link is present. 

C. No link is present. 

D. There is a link fault. 

E. The port is not forwarding. 

Correct Answer: E 

 

QUESTION 3

DRAG DROP 

Select and Place: 
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Select and Place: 

Correct Answer: 

 

QUESTION 4

Which three of the following components must be elected before the Spanning Tree Protocol can converge in a
switched LAN? (Choose three.) 

A. designated ports 

B. duplex operating mode 

C. fast mode ports 

D. root bridge 

E. root ports 

F. BDPU priority 

Correct Answer: ADE 

 

QUESTION 5

What are two benefits of a star network topology? (Choose two.) 

A. Disruption of the entire network is not required when adding new machines. 
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B. Any problem which leaves the network inoperable can be traced to the central hub. 

C. This network type requires less cable as compared to linear bus topology. 

D. The performance of one of the numerous nodes cannot reflect on the performance of other nodes. 

E. The performance of the entire network is directly dependent on the performance of the hub. 

Correct Answer: AB 
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